N of simulated tracks vs transverse vert position N of associated tracks (simToReco) vs transverse vert position N of simulated tracks vs z vert position

[} [%2] ]
@ o o
= = Q
c B S, 3
o ° o 10
(=] =1 (o]
k= = £
X (2] <
[S] c Q
o 8 10 o
o o) [

12 10?

10k
kel = i -
= T b :
& & M
TR 1 AL
0% ' ' ' 0 0 10 20 30
1072 107" 1 10 107 1072 101 1 10 107 -1 1
TP vertr (cm) TP vertr (cm) TP vert z (cm)
| N of associated tracks (simToReco) vs z vert position | | N of simulated tracks vs. sim PV z | | N of associated tracks (simToReco) vs. sim PV z |
12 %] 2
ol k) o
= [3} =
B & . B
° a 10 °
£ £ £
%] X %]
c Q o
3 I 8 10
o} [ 5 o}
24 10 14
10
1
o . o wwof j j fiiifiiiig . .
T L : i ] : : 3 o N A N AT A N
O 15p------ PR 0TS 111 ) o [ : : |||||||| : : :
: E : : T |||||||| 1 S
‘:' k' R | 1 5 el el el Ll 0.95‘: L : : : : : : 1 :. .:....... h . _:
-10 30 -20 -15-10 -5 0 5 10 15 20 -20 -15 -10 -5 0 5 10

TP vert z (cm) TP Sim. PV z (cm) TP Sim. PV z (cm)



	Contents
	Page 1


